LramMpPIoN
Power & force

Mﬂl’IIOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTemn

Mogenb: T266

38 !

L3 52
Ne ApTukyn HavnmeHoBaHue K-Bo Ne ApTukyn HaunmeHoBaHve K-Bo Ne ApTukyn HaunmeHoBaHve K-Bo
1 03010110007 BMHT M5X12 1 27 03030020003 laitka M8X1 1 53 03020020053 BuHT M5X12 1
2 70030030426 Kpbiwka unnmkapa 1 28 03040050052 WWaii6a 6X15X1.2 2 54 03020020044 BUHT M5X55 2
3 03020020055 BuHT M4X12 1 29 02050160002 Cuennenue 1 55 02090010011 DUNLTP BO3AYLIHBIN 1
4 03010010062 BuHT M5X20 4 30 03040050042 LWaii6a 2 56 70030040123 Kpbiwka ¢punsTpa 1
5 70070130032 Unnvsap 1 31 02020130001 BonT cuennexus 2 57 02110030079 Talika KpbiWwKK GunbTpa 1
6 03130010013 Cseuva 1 32 80010020078 KpbilwKa cuenneHus 1 58 02110020026 MNpo6ka TonAnBHOrO 1
6aka

’ 02070010032 Npoknaaka uamHApa 1 33 70030030164 3awwTa KapTepa 1 9 | Ty P E— I
8 02020020003 Konbuo nopuiHesoe 2 34 03040010008 WWai6a 4 2 0 | T T
9 02010020005 MopuweHb 1 35 02070010048 LWaiiba marHeTo 2 61 02050120002 OUNbLTP TONAMBHBIN 1
10 02020150002 Wati6a nanbua 2 36 02050030124 Marueto 1 62 70050030094 BaK Ton/MBHbI 1
1 02020010004 Manew, nopwHsa 1 37 03020020054 BuHT M4X20 2 63 03040050022 LWaii6a 5 1
12 02020030017 Konbo cronophoe 2 38 02050050213 MPOBOA, BLIKNIOYEHMA 3aXK. 1

13 03090020018 MoawmnHuK nanbua 1 39 02080020012 3arnywka 1

14 02020120023 KoneHsan 1 40 02070010162 Mpoknagka rywutena 1

15 03090010028 MoAWWNHUK KoneHBana 2 41 02050010015 rnywutens 1

16 03100010009 CanbHUK KoneHsana 2 42 03040020020 LWait6a 5 2

17 03060010002 LWtndt B3X10 4 43 03050010015 WWaii6a 5 2

18 70070050038 KapTep cTopoHa cTaptepa 1 44 03010010051 BUHT M5X55 2

19 02050100015 Mnarta cobayek craptepa 1 45 02070010019 Mpoknagka nog tens-p 1

20 02050070009 Craptep 1 46 70030020016 TennousonaTop 1

21 03020020029 BUHT M4X16 5 47 03020020012 BUHT M5X20 6

22 03070010001 Llinokka 1 48 02070010071 Mpoknaaka noa kap6-p 1

23 02070010119 MpoknaaKa KapTepa 1 49 02050020101 Kap6topatop 1

24 70070050039 KapTep cTopoHa maxoBuKa 1 50 70080120007 Onopa $punbTpa 1

25 03010010058 BuHT M5X25 4 51 03020010012 BuHT M5X16 GB9074.3 2

26 02050030018 Maxosuk 1 52 02020160564 Kpbiwka punbtpa 1




LramMpPIoN
Power & force

Mﬂl’llOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTemn

Mogenb: T266

a8 ar
39 \b\.

26
Ne ApTukyn HaunmeHoBaHve K-Bo Ne ApTukyn HanmenoBaHve K-Bo Ne ApTukyn HanmeHosaHnve K-so
1 61270030006 PepyKkTop 1 32 70030180133 Ckoba nosgseca pemHs 1 63 80010050059 KpoHLwwTelH cpegHuit 1
2 03120020002 Konbuo ctonopHoe 26 1 33 70030160007 XomyT 1 64 02020060036 Ban Bepx (832mm) 1
3 03120010001 Kosbuo cronopHoe 10 1 34 03040030002 LWaiba 5 1 65 02010010072 LtaHra Bepx(26*1.5%778) 1
4 03090010015 MoawwnnHuk 6000-2RS/PS 2 35 03010060053 BuHT M5x20 1 66 80010050078 KpoHwWwTeinH Hu3 1
5 02020090072 Ban-wecrepHa 1 36 02010010095 LtaHra HK3(26%1.5*718) 1 67 03050010012 LWaii6ab 1
6 03020030014 BuHT M5x25 1 37 02020060034 Ban npueogHoi HU3 (703mm) 1 68 02050220013 TpvMMepHasa ronoBKka 1
7 03020030021 | BonT M6x12 2 38 02040010003 | Brynya sana ( 8*14*14) 6 69 03030010013 | Taiika M5 2
8 80010040011 Kopnyc pegyktopa 1 39 02080020006 AmopTusaTtop BTYNKKN 6 70 03010010056 BuHT M5*14 2
9 02020160080 YawkKa orpaHnunTenbHaa 1 40 | e PyKoATKa ynpaBneHna KOMNIeKT 1 71 70030030523 KpoHLwWTeiH KpenneHus 1
KOXyXa
10 03020020053 BuHT M5x12 4 41 03010040037 BnHTST2.9%x10 1 72 03010010062 BuHT M5*20 2
11 03090010013 MNoawwnnHuk 6000/P5 1 42 70030070016 KHonka 1 73 61270070004 KosKyX 3aLWMTHbIA KOM-T 1
12 02020090020 WecTepHa 1 43 02020110044 Mpy>K1Ha KHOMKK 1 74 70030030522 Koxyx 1
13 02020090035 Ban pesyKTopa BbIXOAHOMN 1 44 70030070092 Wrndr 1 75 02010030001 MpoKnasKa Koxyxa 2
14 03090010014 MoawwnnHuk 6002-2RS/PS 1 45 70030070062 Pbiyar rasa 1 76 03040020020 Wanba 5 4
15 03120020001 Konbuo ctonopHoe 32 1 46 02020110028 Mpy»KuHa pblyara rasa 1 77 03050010015 LWaiba 5 4
16 02020100020 Waitba pepykTopa 1 47 70030070167 PyKoATKa, Npasas NonoBuHa 1 78 03010110119 BuHT M5x20 4
17 02020100012 LWaii6a Hoxa 1 48 03010040029 BuHT ST2.9X18 2 79 03010040027 BUHT ST4.2x16 1
18 03040050014 LWait6a 10 1 49 03010010064 BuHT M5*27 1 80 70030030056 dapTyK KoxKyxa 1
19 03030010007 aiika M10x1.25L 1 50 02050040048 Tpoc rasa 1 81 03010040025 BuHT ST4.2x13 2
20 03060020004 WnanHT 2x16 2 51 3030010004 laiika M6 2 82 02020070037 Hox Koxyxa 1
21 61270020023 Kopnyc cuennenua komna. 1 52 01040030002 lodpa Tpoca rasa 1 83 02110030022 XomyT 2
22 02020050019 bapabaH cuennexua 1 53 02050050101 MpoBoaa HU3KOBONbTHbIE 1 84 02050060019 PemeHb nogseca 1
23 03120020004 Konbuo cronopHoe 35 1 54 70030070202 CTOMOPHbIV pblyar pblyara rasa 1 85 02060040025 Hox 1
24 03090010012 MNoawwnnHuk 6202-2RS/P5 2 55 02020110029 Mpy*K1Ha CTONOPHOrO pblyara 1 86 02110030004 KorKyx Hoxa 1
25 03120010005 Konbuo cronopHoe 15 1 56 70030070219 PykoATKa, 1eBas NoN0BUHA 1 87 02040030003 3arnyLka WwraHrn 2
26 80010030039 Kopnyc cuennenusa 1 57 03030060008 Faitka M5 1 88 02020160293 MepexoAHuWK Bana 1
27 02080020069 AMOPTU3ATOP WTAHTKN 1 58 03040020015 Waiba 6 1 89 70070090016 MydTa coeamHuTeNbHAA 1
28 03010010058 BuHT M5x25 8 59 80010050106 KpblLwKa BEPXHAA KPOHLITeHHa 1 90 03040020007 LWait6a 10 1
29 80010050068 Ckoba B 1 60 02020160512 PykoATKa npasas 1 91 03060030005 Ddukrcatop mydTbl 1
30 80010050049 Ckoba A 1 61 02080020097 HabangawHuk pyKoaTku 1 92 70030180089 Bont mydTbl 1
31 03010010060 BuHT M6x20 4 62 02020160462 PykoATka nesas 1 93 03010010024 Bont(M6X35) 1




